ATE 30K 20| 1NN ©or
T =1 =1 L i | = L
HE g e
1 3 3
2 5 3
3 4 3
4 5 3
5 2 3
6 1 3
7 4 4
8 3 4
9 1 4
10 4 4
1 2 4
12 5 4
13 5 4
14 2 4
15 2 5
16 3 5
MY E
1(2h o 5
2(Th 5 5
(1) AH= HE’U =12x v/3=12v3 (m
3(H) (2)CH= AHtan 60° =12+/3x v/3=36 (m) 6
(3) BC=12+36=48 (m)
(1) BE=FB=z(cm)2t1 5}9
%Xxx:z:Xsin30°=% sori=3
4(M) z>0028 z=+3=BE 7
(2) &ABEQIA;] _ -
LABE=-%(90"—30°)=30"(3)AB= /3 cos 30°
= £=E (cm)
2 2
(1)tan28°—A—C°]‘ji
BC=ACtan28°
5(M) BC=10x0.5317 =5.317 7

(2) 179 Eole
1.6+BC= 1.6+5.317 = 6.917
254 EAAE NN B2 6.9 (m)
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A3l 3std AL 3&t A
28 3Y HH & =& = HH &
1 3 2 1 3 2
2 2 3 2 2 3
3 1 3 3 1 3
4 5 2 4 5 2
5 1 4 5 1 4
6 1 3 6 1 3
7 1 3 7 1 3
8 2 4 8 2 4
9 3 2 9 3 2
10 4 4 10 4 4
11 4 4 11 4 4
12 5 4 12 5 4
13 4 2 13 4 2
14 3 2 14 3 2
15 4 3 15 4 3
16 3 3 16 3 3
17 3 3 17 3 3
18 2 3 18 2 3
19 5 3 19 5 3
20 5 4 20 5 4
21 5 4 21 5 4
22 1 3 22 1 3
23 3 2 23 3 2
M1 (=4 714 2 Ml |9=3 714 2
M2 |FF2= 8 (a9 %) 2 N2 |72 (FHAd %) 2
N3 |F9 9% 2 M3 [FH 9% 2
N4 |6: 34, ©: oA 4 A4 19: ZA, ©: o4 4
A5 [el7t ddste I 43 AFold. 4 A5 [Foprt wdste A7 23 A Holrt, 4
A6 |AA7E ot AT 8 A Ho|t}, 4 K6 [AFA 7t got T 3|8 A Fojr}, 4
Jd FE OH7t dn (W17 g B FHe b7t dx ()7t #d
A7 #2493 H&2 b7 %32 (W7t 8 K7 |f2dF b8&e b7t 32 (W7t 8
B= Aol M3 =AE $A9 7]&7]7 BE Aol "8 Z=AIE FAY 71€717)
K8 |F3t3L, Z=AISt FE Aol F43) 4 N8 [F3tx, =AI87E #F2 A F43) 4
A AP Act. A F A=A
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k&t 384 In%-13 35t
=& g ] S =8 g i &
1 5 4 1 5 4
2 3 4.5 2 3 4.5
3 3 4.5 3 3 4.5
4 3 3.9 4 3 3.9
5 1 4.5 5 1 4.5
6 4 3.9 6 4 3.9
7 5 4.3 7 5 4.3
8 4 2.8 8 4 2.8
9 1 3.7 9 1 3.7
10 3 3.5 10 3 3.5
11 4 3.1 1A 4 3.1
12 2 3.1 12 2 3.1
13 4 3.4 13 4 3.4
14 1 3.7 14 1 3.7
15 5 2.9 15 5 2.9
16 1 4 16 1 4
17 2 3.7 17 2 3.7
18 2 2.8 18 2 2.8
19 2 3.7 19 2 3.7

20 20

21 21

22 22

23 23

24 24

25 25

M1 [5:2 3 A1 |5:2 3
1) 4]:9.8 x lkg x 0.1m 1) 4:9.8 x lkg x 0.1m

©:0.98 J 2:0.98 J

2) gt X =25 A A+ X 2) HEA o 2= 5ol Y x| +9] X o
Yz olt}. AN Edsioloenz 2] otk AFAA EEEReET
A A v=00|t}. metA] 5o X AR A v=00]T}, welA Foux|
7} 00122 AZ-A detH o A= 7} 00| B2 AelA] detdd A e
AFolA 9 $xovet 2A Bo=m ARl A9 fX) RS} ZA Hog
0.98J0]t}, 0.98J0]t}.

M2 13y o) gomz segely gg| 10 M2 |3 dtare) glomz megea g5 10
AU e gk, mhEha CHAAM g HolY A& Z2rh. weba] CHoA o
33 oA E 0.98]0]Hr}, 34 o= 0.98J0] H}.
CAA Fo|7} 00]E2 CHIAN ¢ CHolA Eol7} 0ol=2 CHA ¢
Ao =) x| 7} 0o} =|o} CH2 HeH AN A A 7F 00 = o] o] A3
AR EENUXE A He= AU A} EFUAE 2A HER
0.98]=1/2 x lkg x v? o]t} 0.98J=1/2 x lkg x v% o]t}
wEta] £8e 1.4 p/so|t}. wata £33 1.4 n/so|ch.

M3 |14 4 A3 |14 4

A4 (), (=) 3 M4 1) () 3
1) ZFEdolt, 1) ZEdolt.
2) 744 189 A7) o|c}. 2) 75 124 A7) o]t}
3) B o[}, 3) B ojt}.

A5 |4) 2202 4547 AeEtd 10 K5 |4 2802 45947 F§Eo 10
2712 A E AT AE 7 27tE A E FASHUL AE 7HeH
uasl mjdsEe] A gomz #y U@s vidsEo) X gfemg A4
1249 A7]e Axolt. 124 @719 HEeld}.
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A0 3st4 =R 3stA
=& a3g o & 28t g Bl &
1 3 3 1 3 3
2 3 3.5 2 3 3.5
3 4 3 3 4 3
4 2 3.5 4 2 3.5
5 3 3.5 5 3 3.5
6 4 4 6 4 4
7 2 4 7 2 4
8 1 3 8 1 3
9 5 4 9 5 4
10 3 3.5 10 3 3.5
11 5 3.5 11 5 3.5
12 1 3.5 12 1 3.5
13 1 3.5 13 1 3.5
14 2 4 14 2 4
15 5 15 5
16 5 3 16 5 3
17 5 3.5 17 5 3.5
18 3 3.5 18 3 3.5
19 3 3.5 19 3 3.5
20 2 4 20 2 4
M1 |in mind 3 A1 in mind
A2 No problem. / (No), not at all. / 4 A2 No problem. / (No), not at all. / 4
Of course, not. / No, (I don't.) 0f course, not. / No, (I don't.)
@: character(s), @: character(s),
A3 |®: plot, 4 A3 ®: plot, 4
©: setting ©: setting
If I had enough money, I could buy If T had enough money, I could buy
M4 |a (birthday) present for (my/Ja- 6 A4 a (birthday) present for (my/Ja- 6
hee's) mom/mother. hee's) mom/mother.
A5 |senior citizens / slow learners 3 A5 |senior citizens / slow learners 3
A6 It is hard for me to stay in one 4 N6 It is hard for me to stay in one 4
place. place.
When Kwon came back home, she found When Kwon came back home, she found
- somebody had planted a/an (apple) - somebody had planted a/an (apple)
tree. tree.
- somebody had turned her chicks - somebody had turned her chicks
into chickens. into chickens.
K7 |- seombody had drawn a picture on 6 M7 |- seombody had drawn a picture on 6
the ground. the ground.
- somebody had taken(stolen) her - somebody had taken(stolen) her
corn. corn.
- somebody had opened the kitchen - somebody had opened the kitchen
door. door.
Al 100 Al 100
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S5 met e og et s
1 4 3 1 4 3
2 3 3.5 2 3 3.5
3 2 3 3 2 3
4 3 2.5 4 3 2.5
5 4 3.5 5 4 3.5
6 1 3.5 6 1 3.5
7 5 4.8 7 5 4.8
8 2 3.2 8 2 3.2
9 4 4 9 4 4
10 5 2 10 5 2
11 3 4 1 3 4
12 2 3 12 2 3
13 1 4 13 1 4
14 4 4 14 4 4
15 2 4 15 2 4
16 5 5 16 5 5
17 5 5 17 5 5
18 1 4 18 1 4
19 1 4 19 1 4
20 20
21 21
22 22
23 23
24 24
25 25
e 3 A1 |deeasg 3
M2 | 3a8 (AR 3 M2 328 A 3
K3 o1, olo] 4 K3 [ol%, olo] 2
HFAE ngAsY AEE B AFAAE ngAsh) HAS B
Ik AT HAE GEAHE HR k3 4FFAE QTS R
M4 g usn), a4, we se gz 9| 4 M4 la'usy, a4, we se ax g 4
= o,
M5 [P BIES wuE wgae As| N5 |37 BAECl WA wese Ag|
1x3k7) o1 WA 57 AAA
1) A%} (34) 1) % (34)
N7 [P EFARE 2g=a nge AA| W7 D EFAEE z3zs Awe AR
B3 Aol om JEAISRE Do 1 Qolsgon} /EASHE O
ZAch. (43) Ao}, (44)
FEEEEEE FEEEEEE
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=0 3&tis 204 38t
=g g HH & =g == o &
1 3 3 1 3 3
2 1 2 2 1 2
3 3 2 3 3 2
4 4 3 4 4 3
5 2 4 5 2 4
6 5 3 6 5 3
7 2 3 7 2 3
8 5 3 8 5 3
9 5 2 9 5 2
10 1 2 10 1 2
11 5 4 11 5 4
12 2 2 12 2 2
13 1 3 13 1 3
14 2 2 14 2 2
15 3 3 15 3 3
16 2 2 16 2 2
17 1 2 17 1 2
18 3 2 18 3 2
19 ) 2 19 5 2
20 3 3 20 3 3
21 4 3 21 4 3
22 5 3 22 5 3
23 3 2 23 3 2
R 2 Al B 2
Oy o
M2 v #3 6 M2 I 6
C: A= C: A=
(FHollA] ojle] 2291 P& '2E (THol 4] ejaldo] 291 P& 'BE
At Eo] vittE ARs H2E ol Al go] withg Ars FHgEd wo
M3 B TREE Ado] Hojd An 8 M3 =gt ' RAAG Ado] Fojd Ax g
'o]3L <®7]>olA ojlo] 29l o] <B7]>elx] Qo] el
& '2ES EEE YR du'e e '2EE E= UEUF du
o, o} 2glAE YF7}F Az’ ot o, oF 22X+ UF7t dx' o
E=HEL NE, 28, B0z T4 E=HES N, BE, AE0E T4
Ho, BRI 2= A, AYA He, HA2L e A, AYA
Mé lee) zaa, nue Ay enz| 8 Me lze) zaay, oz Ay exz| O
25 & 25 29,
4913} 5] £AE wH ok Fot, 493} 5319 A E upF ok At
N5 |EAE AAED E gt A 6 M5 [EAIE AIAET 2 Weds AAN 6
oF 8t7] WEolct. oF 37] W&olct.
L A5Es @, 1. A43FS 9.
N6 2. A7ER £ 2EG 6 A6 [2. ATEH £ REO 6
3. &% 8% Fl=5 @430} 3. % 29 JI=E B8
A EAE A FAE
N7 |B: 28% 6 N7 B 2E& 6
C: A% C: A&
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